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33 SGES

101. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below ;

Column A ‘ Column B
a}] frankly 1. generally
b) usually 2. openiy
) finally 3. terribly
dl  grimly 4.  lastly. |
Codes :
a b c d
2 1 4 3
B) 3 1 4 2
C)y 2 3 1 4

D) 4 2 3 1

102. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B -
a) catamaran ’ 1. good bye'
b)  bungalow | 2.  without
c¢) adieu - 3.  big house
d) sans 4.  aboat.

‘Codes :

A} 3 4 - 2 1
B)/ 4 3 1 2
C) 4 1 2 3

Dy 4 2 1 3.

[706 | | Turn over



SGES 34

103. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) famous 1. least
'b)  minimum : 2.  traditional
c) conventional ' 3. forceful
d) powerful 4, well known.

Codes : ’

Al 4 3
B} 4 1

C) 4 2 3 1

NN
w

D 4 1 3 2

104. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A - Column B
al modestly ', new
b) despair 2. gently
c) novelty 3. search
d pufsuil : 4.  hopecless.

Codes :

A 4 2 3 1
B 2 4 1 3
é) 4 3 1 2
D 2 1 3 4.




105.

106.

107.

108.

108.

3'5 SGES
Match the following words given i Cojlumn A with their meanmgs in Column B
and select the correct answer from ihe: codes given below :

Column A Column B
a) rocking 1. interfere
b)  queer 2. moving gently
c) meddle 3. attack
d) invade 4, odd.
Codes :
a b c

A) 4 3 1
B) 3 1 2

W b N QA

o 2 4 1
D) 1 3 2 4.

Choose the correct synonym for the ilalicized word :

I'm a beast now.

A)\/ animal B)  waste

C) man 7 D)  human being.
Choose the correct synonfm for the italicized word :

! used to be very shy and avoided all company.

A)" timid B) bold

C) lazy D) dull

Choose the corre& synonym for the itaticized wiord :

He carrled on his research in general relativity and cosmology.

A)  astudy of caste B}/a study of the universe
C)  a study of cosmetics D) a study of community.
Choose the correct synonym for the italicized word :

‘The dusty old book tucked beneath his arm.

near B) in front of

Gl/ under D)  above.

[ 706 | | [ Turn over



SGES | 36

110. Choose the correct synonym for the it alicized word :

111.

112,

113.

114.

115.

116.

We must conduct our struggle with di gnity.
A gentleness S | B)  serlousness
C) violence D) kind.

Choose the correct antonym for the italicized word : -

‘Kavitha always hated school.

A) detested _ B)  disliked
C) despised L~ loved.
Choose the correct antonym for the italicized word :

He was a rich businessman. '

AN poor B) healthy
C) good D)  bad.
Choose the correct antonym for the italicized word :
Multimedia ié not conwventional tool.

A) important | l B} exhausted
C)/ modern D)  special
Choose the correct antonym for the italicized word :

1 was not regarded as a dunce at tllle high school. .
A]\/ clever B) timid

C)  stupid D) introvert.

Choose the correct antonym: for the italicized word :

‘We appreciated his virtues.

A}\/vices' X B)  victories

C) vigilance D)}  courageous.
Select the word with correct prefix :

A} illegal B) dislegal

C)  enlegal | D) unlegal.

.
kY




117.

118.

119,

120.

121,

122,

123.

124.

37

Select the word with correct prefix :

A)"/um'ea_l B) irreal

C)  disrcal ‘ D) misreal.

Select the word with correct prefix :

A) - eminent o B]‘/empower
C) emotional D) emblem.

Select the word with correct suffix :
Ai/ attendance _ B) attendar
C) attendee D) attendful.

Sclect the word with correct suffix ;

A) takeness 7 B) nuisténce
Q) plainness : ‘ ‘ D*/ weakness.
Fill in the blank with the suitable article :
Imet..........ooeeeihnn. Europcan yesterday.

A)  the Bl a

C) an D) no article.

Fill in the blank with the suitable article :

et e——————— empty vessel makes a lot of noise.

A)  Noarticle _ . B} The
C) A DY An.
Fill in the blank with the suitable article :

Veena plays .........cceeeeee. violin everyday.
A}»‘/the B) an
C} no article D) a

Fill in the blank with the suitable article :
.................. sun is hotter than the moon.

Al - A B) An

(;\)/ The D) No article.

[ 706 ]
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125.

126.

127.

128

129.

130.

131.

Fill in the blank with the suitable article :

Rajan is .......ccovennrennnns union leader.
A) an B} a
Y~ the D) . no article.

Fill in the blank with the suitable preposition :

being fined, he was sentenced to a term of imprisonment.

Al Beside B) On
CL~" Besides ' D) For.
Fill in the biank with the suitable preposition :

Mr. Roy goes to the office .....cc.veveeee.... foot.
A) by B on
C) of D) to.

Fill in the blank with the suitable preposition :

We travelled .................. Mr. Joshi’s car.

A) by B) with
CJ/ in D) at
Fill in the blank with the suitable preposition :

I saw Balu felling a big tree ............ [ ‘an axe.
AN with B) by
C)  through D) at

Fill in the blank with the suitable preposition :

I heard the news ...........covveeens the radio.

A) in B) from

‘C} at Di/ on.

Select the correct question tag :

Your parents are not busy, ........ e ?
A]\/are they B) have they
C) dothey D) haven't they.




132.

133.

134.

135.

136.

137.

138.

39

Select the correct question tag :

The principal ... to speak to you.

Ve &
A}” wants B) is wanting
C) was wanting ‘ D)  will want.

Select the correct question tag :

You seem Lo be well preparéd for joining the course, ........... — ?
A) are you B) aren't you

Q/ don’l you D} doyou.

Select the correct question tag :

There is a movement 1o protect manure, .........ccoooeeeis ?

N dsit B isn't it

C) doesit D) is there.

Sclecl the correet question tag :

He hardly goes to his native place, .................. ? -
A}\/ does he ' , B) doesn’t he
C) ishe D)  did he.

Select the correct tense :

Ravi ....ccovvvenennne, the garden since morning.
A) have watered B) has watered
C)~” has been watering D) have been watering.

Select the correct tense @

The earth ........ceeaeees round the sun.
~A) move : B) moved
C) V/rnoves ' | D)  will move.

Select the correct tense :

fl.......... -... the peacock. I would dance.
A) am ' B) is
C) v were D) - will be.
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139.

140.

141.

142.

143.

144.

145.

Name the correct tense form of the tlalicized words :

The light went out While I was reading.

A) Present continuous tense B) Present perfect tense
l9)/ Past continuous tense D) Present tense.

Select the correct tense form of the verb given in brackets :

My mother was .................. ( pray ) when the telephone rang.
A) prayed B\ praying

C)  had prayed D} would pray.

Fill in the blank with the correct form of voice :

The letter ........c..cceven... tomorrow.

A)_~ will have to be posted B}  had been posted
C}  were posted D)  will post.

Fill in the blank with the correct form of voice :

Lettheevil .................. .
A)  were burnt | B) isburnt
C)  shall be burnt DL~ be burnt.
Fill in the blank with the correct form of voice :
The criminals who kidnapped the schoolboy ........................ already, by the
police. |
A)  are arrested B) were arrested
Cl~ have been arrested . D) will be arrested.

Select the correct Passive voice from the following :
A) Jamuna taught us French

B]\/ The National award was won by Rahul

C) Ravi wrote a letter to his friend

D}  The Headmaster deciared a holiday yesterday.

Select the correct voice of the verb from the options given :

All the letters ...........ooceevvieenn. by them. .
A}  are posted - : B) are being posted
\9/ were posted D) is posted.



146,

147.

148.

149.

150.

151.

152,

41 - SGES
Fill in the blank with a suitable ﬁlﬁnitive :

Children love ............... rereeens with dolls.

A) to be played B)L//'.to play

C)  to be playing | D)  t¢ have played.
Fill in the blank with a suitable infinitive : |
Iwasmade ...........ccoevnenene. my car.

A} moving , B)  having moved
C)~to mové D) move.

Fill in the blank with a suitable participle :

My dress neéds ..................... .

A) iron ' B) to be ironedd
Ccy~ froning D)  ironed. |
Fill in the blank with a suitable gerund :

................ .«r..... Kites is my hobby.

A) Fly : - B) Tofly _‘
0L~ Flying D) To be flying.
Fill in the blank with a suitable gerund :

Tecouldn'thelp ........c.oovveinnnnnns .

A) laugh B]'-/laughing

C) tolaugh . » D)  having laughed.
Identify the sentence pattern :

We are watching the cricket match.

A) . SV. B) S.V.OC.

‘(9/ S.V.0. | D) Sv.C

Identify the sentence pattern :

The neem trees are useful.

A} 8SV.0. ‘ B} S.V.

¢y S.V.C. D) SV.O.C.
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153. Identify the sentence pattern :

154.

155.

156.

157.

158.

159,

160.

The car driver hit a truck.
&~ sv.o. B)
Cl] S.V.A. D)

Identify the sentence pattern :

The mother has finished ¢ .coking just now.
A)  S.V.CA. B
C) S.V.AA. D)
Identify the sentence pattern : |
The chief officer is kind.

A sve. B}

Q) SV.0. D)

Change the follow/ing noun in to verb :
Driver

S.V.C.
S.V.AA.

SV.OA.
S.V.OAA.

SV.A. -
SV.0.C.

A)  driven B)‘/drive

C)  driving, ‘ D) derive.

Change the followingg adjectivé into adverb :

Real

A) relativity : B) reality

C) realness Q)/ really.

Changte the foll owing noun into verb :

Response _ '

Al respon.dent | B}/ respond

C)  respoamnsive D) responding.

Cnange tlie following verb into noun :

Dismiss ‘ |

A" dismissal B) dismal

C) dismissed D) dismay.
Cha nge the following verb into noun :

Prvasented

A)  presenting B) to present
C) presenter DJ/ present.

[706 |
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162.

163.

164.

165.

166.

a3 ‘ - 'SGES
Fill in the blank with correct homophone :
The boy put shampoo in his ............... . '
Al hare B')/ hair
C) her D) hour,
Fill in the blank with correct homophoné: : |
Vegetarians don't eat .................. .
A) meel B]/ meat
C) maet D)  met.

Fill in the blank with correct homophone :

The child ........... T the toy out of anger.
A}\/ threw B)  through
C) three | D) thrice.

Fili in the blank with correct homophone :

Hit o , we will stay at home, -
A) +rains B) reins

C) reign D)  rein.

Fill in the blank with correct homophone :

She carried ......c.oeiiiieiniannnn. of water.

A" pail | B) hail
- C)  hale | | D) pale.

Comprehension :

Examination develops a kind of fear in students’ mind. Owing to the fear, their
minds are not steady and so they forget the answers. Mr. Churchill once said,
“The examinations test the students what they do not know". The examination
carries questions which confuse some students.

Why do students forget answers during examination ?
A)  Overconfidence B)  Negligence

g]/ Due to fear and unsteady mind D]  Due to tension.
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167. Comprehension :

168.

169.

170.

Malliga, a village girl wanted to get admission in a college in the city. She went
1o the bank to get a loan. But the manager was not there. She waited for him
and met him. He refused to sanction the loan because she had no account in
the bank. -
Why did the bank manager refuse to sanction loan to Malliga ?
A) Malliga was a village girl
B)  Her parents didn't accompany her
C) Malliga refused to wait

«9‘/ Malligo had no account in the bank.

Comprehension :

The Yellow River is the second largest river in China — over 3000 miles long, It
rises in the mouniains of Tibet and flows right across China to the east coast.
The Yellow River or Hwang Ho, flows into the Yellow Sea. or Hwang Hali.

The Yellow River flows into

A) Hwang Ho Bi/ Yellow Sea
C]  the desert D) Tibet.
Comprehension :

Eyes are the gateways to knowledge. Since seeing is believing we learn more and
more by seeing things. We have two eyes, two ears, but one mouth. Do you know
the reason ? We must see a lot, hear a lot but talk very little.

Why man is blessed with one mouth ?

A]\/To talk very little B) To talk always
€}  To talk more D) Not to talk.
Comprehension :

The Pleiades named after the seven sisters of Greek mythology is a Star-cluster
that can be seen with the naked eye. It appears as a dipper-shaped group of
stars, high overhead on autumn evenings.

What is the Pleiades ?
A)/A Star-cluster

" B}  One of the seven sisters of Greek inythology

C)  Seven sisters of Greek mythology
D) A dipper-shaped star.

[ 706 |
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I71. Select the correct sentence :
A) He is proud for his high birih B}  He is proud about his high birth
{Cl~ He is proud of his high birth D) Heis proud by his high birth.

172. Select the correct sentence :

A) Do whatever you think right '~ B) Do whatever thinking right
C) Do whatever you thought right D)~ Do whatever you think right.

173. Select the correct sentence :

A)  There are some milk in the cup. B)‘/ There is some milk in the cup.
C)  There were some milk in the cup. D}  There has some milk in the ¢cup.

174. Select the correct sentence :

An~"Theardofhisarrival . B) 1heard on his arrival
C) I heard off his arrival D) 1heard in his arrival.

175. Selecl the correct sentence :

A)/ Can coffee bé macde with cold water ?
B) Need coffce be made with cold water ?

C) Might coffee be made with cold water ?
D)  Shall coffec be made with cold water ?

176. Find out the error : .
Though sheis weak she was active

A B C

177. Find out the error :
He is confidenton  his success
A B c,. D
178. Find out the error :
Iron is useful than any other metal
A B G~ D '
179. Find out the error :
He gave mec an one-rupee note

A B C D~
180. Find out the error :
Sheela is_ junior than me

A B C DS

[__'zf);éj [ Turn over
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181.

182.

183.

184.

185.

186.

187.

188.

Find out the odd word { Adjective ) :

A) station B) stationery
Q)/ stationary A D)  stalioner.
Find oul the odd word { Verb } : '

A} boy B]V/boycolt
C) boyhood : [3)  boyish.

Find oul the odd word { Adverb ) :

A)  wake ‘ B) wakeful

Q}/’ wakelully D)  wakefulness.
Find oul the odd word ( Noun ) :

A) imagine B)‘/imaginatloﬁ
C)  imaginary D) imaginable.

Find out the odd word [ Noun ) :

A)  pictured B) picturesque

C)  picluresquely D) picturesqueness.
i

Select the correct plural form for the given word :

criterion
A) criterions N B}/ criteria
: C)i crilerion D) criferiones.

Select the correct plural form for the given word :

tooth
A) tooths B]\/teeth
C) teeths ' D) teethes.

Select the correct plural form for the given word :

book
A)  bookes Bw/books
Cl book D)  bookkes.
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189. Select the correct plural form for the given word :

190.

191.

a 192.

193.

194.

alumnus
A) alumnus B) alumnuses
CL~ alumni D}  alumnusis.

Select the correct plural form for the given word :

deer
A) deers B)‘/deer
C) deere D} deeres.

Which of the following endings is correct to form the correct Complex scntence ?
They went towar ...............

A" that they might expand their territory

B)  lo expand their territory

C}  and expanded their territory

D)  in order to expand their territory.

Identify the Complex sentence : -

A)a~"When the old lady saw the thief she shouted .

B) In spite of his poverty he is happy.

C) In the event of his passing the test he will get a job
D)  Being clever he won the game.

Identify the Compound sentence :

A) Tell me where you live.

B) Work as hard as you can.

C/Work hard or you cannot win.

D) If you do not waste you do nol want.

identify the Simple sentence :

AY~" The rain haviﬁg stopped, we continued our journey.
B} The rain stopped so we continued our journey.

C}  As the rain stopped, we continued our journey.

D) The rain stopped and we continued our journey.
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. 195. Identify the Simple sentence :
A)'/ Do not be a borrower or lender.
B) He was obstinate, therefore he was punished.
C)  Asitis raining, I will take an umbrella with me.
D}  Make haste or you will be late.
196. Idenlify the Comparative degree : 7
A)  No other game is as popular as hockey.
B) Emu is the biggest Australian bird.
C}  Arjuna was the most skilled warrior.
\Iy Hari is shorter than Ramu.
197. ldentify the Comparative degree :
A) Mala is the best singer in the school choir.
B)  No other singer in the school choir is so good as Mala.
G)~~ Mala is better than any other singer in the school choir.

D) Very few singers in the school choir are as good as Mala.
198. [dentify the Positive degree :

A) He is the cleverest boy In ihc group.

B) Raju is cleverer than Arun. '

C) This is the worst situation.

D).~ Amar is not so good as Bhaskar.
199. Identify the degree :

David is the fastest bowler in the world.

A)  Positive degree B} Comparative degree
\(y Superlative degree D) None of these.

200. Identify the Superlative degree :
A} The Giraffe is the tallest animal.
B) Wordsworth was more famous than most other English poets.
C) Chennai is cleaner than Kolkata.

D) [mran is wiser than Robert.
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